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gi_:her alijrﬁfair_means, such as change of response by scratching or using white fluid, you will render yourself liable to

isqualification.

L Yosuq have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue /Black Ball point pen.

- Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English vérsion will be taken as final.

uflauallal @ yueusd
. Wettell Au uR eafAcll ol Al Aet elez e,
. vl YRl oigds@s Oridl watddl A (100) yal willen B. ol ¥ usl sfRauid B.
1 ué’;&u-& UFAAML MR YHYEASL el wiadl. yau wid (1) ARz e cud yay@as el wA s2@udud A2 yoro udlag
539 :
(1) uayfeistel duAY sal MR B saR Yoell iR U2 wla o sz §8l il A8 ue dolui et W15 corell ¥ veell
unyRast adlsizal 4L
(i) g2 Y6 U2 pudet MEUGUR URY@Aslot yall, Yl WA A oz usill @ willgse yny@se 3 40 yil, Yl i S,
QA U2 Bu AY, vefsuuil vadl we 1Y 525 A wald Aoug ¥R woedlysd yxyfst s o8 wA A wellysd
yay@Eas vl Au A Adas wdell qic v oly wdl yuy®ist Aadl Adl v S GReczA win (1) ARz s e
2adl. udlell, ynyfast sledal wad «4 3 Y auiRiel duaoud wuad wad o8
(i) w ustaRll e s udl, YayEAsLD ez OMR ¥ellol Uats Uz @udl WA OMR ¥alol uAsell «oR YHYREASL U dwd),

4. Yels YK HI2 UR Wl @sed (4), (B), (C) A (D) vituetdi vidd B, dH? WUl veloell dllad (oval)A 1A wlet Gelgel yyu
Qotell adlA dygl 510 scllef 2R
Gewgt - O @P © D ¥ wul (B) wall v B,

. W UHYRERAsLot Yol ool wedlell Wl AW OMR ¥atol uasui Auz-TaRe Rewsii ¥ wld 26l N s OMR Yellol UAEH) g
A Al (oval) Renal vedt 2R weiol 2ld s2al dl A veloo] yeuisel seuml viad «dl,
6. 513 514 (Rough work) yny®stet 21 Y U2 524,
7. R UM OMR ¥l Wty Qe woul Retiad viet AURL WA, U] o, A oiei2, Rot elorz wncl Ad A [@Aek Reuell duidl 2ulaw
ut ub, wld 5290 wacy uels ol yalot 53, vkl v AY UeAR WA Gul 53, THE vk 59 Ade weuol ojall stwdl
¥ abe wWéeAl Gualat 58 clecdl Al wiuA udlan W WAl ME2 szl widdl.
8. udlaw ama Y3 4y Al wie WAV A OMR weliol wais ¥ A RAflasa s:@Baid AUl g wa 518 uel dfonal a uflan visedl oslz ¢g
wq «fl udlen Yyl s e GRecuz WAV A YHYEAS WA OMR waiol atsell sEAzz AUl Deuell WA @t w15 i B,
9. WA 5ol / ofl At Qe et ctuzell,
10. 3esydel, Aol 2ud uA vl SAEES AAlell Gullat seloll Hellts B.
511, w2l ool W2 elsiaieis ot yau «tell,

~o

i,

),

e
N=OWw

WK -

w

@
=

FeFeleddeteededede oo e Fo oo e eae e Yoo e esese e e sesesteseateste s oot e ese e aste s asteste s

ek

\‘-
6.0

&

3)

;i

%
1L %
12. ynyRasiol DY ysul vejele w3 A8 Qete /MaRe waua dl 219y dobet Aoz LU

i
'&%ﬁ@ﬂ@%%*@ﬁ*ﬁ%%%%%ﬁﬁ%ﬂ@%%%%ﬁ%ﬁgx‘%@*%%%%*%%%%‘5{5§l@§l@



3507152



7

1.

PHILOSOPHY
Paper - II

What does rta signify ?

(A} Cosmic and moral order
(B) The values of life

(C) Principles of action

(D) Law of the society

. In the classification of Vedic literature

which among the following belongs

to Karmakanda ?

(A) Upanishads

(B) Mantras and Brahmanas
(C) Vedic hymns

(D) Vedanta

. Which of the following is not included

in the Upanishadic concept of self ?
(A) Self is universal
(B) Self is immanent

(C) Self is transcendent

(D) Self as bodily states

1. b Aed g ?
(A) dAls wa sllds ollax
(B} ®dolotll HEI
() 4 ol ol

(D) AHWs o0l

2. dls wlecHl et [@AMdnL ol si-

515 Aell L& HWUACL B ?

(A) Guldwe
(B) 2 vlal olLsiel
(€) dlgs :d=

(D) Aeid

3. [Aist (Al Hiell 52 Gusllacls
BlcHLotl VAL A8 YRioLdt otell ?

(A) uLeHl ydea dl B

(B) wlteHl AUR B

(C) L wRouHl 8

(D) el 2312 3U B
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4.

Charvaka accepts consciousness as
(A) Epi-phenomenon

(B) Real

(C) Real and transcendental

(D) Substance

According to Charvaka, why vyapti

relation is not possible

{A) Because the relationship between
sadhya and hetu is based on

testimony

(B) Perception is only real

(C) There is no comparison between
perception (pratyaksha) and

inference (anumana)

(D) Because the invariable
concommiitant relationship
between sadhya and hetu is not

perceived

. Which of the following does not fall in

the category of immediate knowledge,

according to Jainism ?
(A) Manahparyaya-jhana
(B) Shruta

(C} Avadhi-jiidna

(D) Kevala -jnana

4. s Adotl A sall 23Ul s &

(A) Gualellal
(B) Ut
(C) Ul U wonHl

D) qeal

. Uldsoll Het WogAIR caUllia Aoy s

s20L ol usa o2l

(A) SIRQUE AUkl Aol d AGE YHIG U
Wl 8

(B) HIA Ycusl U B

(C) 512015 Yl wal wafHlel o §l8S
AR st el

(D) sl0ll 3 wal Akt AR wsHls
UBAUR of Yrallsw as Usd el

(uat [@Qullet Hiell 57 ctesi@s sust oll
ARl uicld etell Fot-g9lot WU ?

(A) Hotsuai siet
(B) %ci:

(C) watl suet

(D) 3ac stiet
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7.

“The elephant is like a pillar” - this
statement represents a case of

(A} Syadvada

(B} Ekantavada
(C) Apohavada
(D} Avadhi-jfiana

. The second noble truth of Buddhism,

states, “there is a cause of suffering,”
which of the following theories is

implicated by this truth ?

(A) Pratityasamutpada (Dependent

origination)

{B) Kshanabhangavada (theory of

momentariness)
{C) Syadvada

(D) Nayavada

. In Buddhism the soul is defined

as an aggregate of the five fleeting
skandhas. This is a tenet of which

of the following theories ?
(A) Pratityasamutpada
(B) Anekantavada

(C) Skandhavada

(D) Kshanabhangvada

7. sladl A5 el AHLal B «, il GElsQL

alsaell 9 yeufla wa B
(A) RUE UE

(B) dsld alE
(C) AUWe AlE
(D) wctl suet

o oflogt aR] AcAMi 5Bty B F “guie]

5200 B dsit ad oot (AL Hiell 520
Rl dlracHl el 8.

(A) ylderaycue

(B} &Qleldl clte

(C) Rueale

(D} olale

olle galotui viclell cavey

Uiy alldls Hlletl A2

AZl% e i ducdl 8. s
Wsict ol viat 3u 2wl s,
(et [AMA el

(A) yldcurjeule
(B) olslodl cLE
(C) Wuale

(D) aLelol aie
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10.

11.

12.

In Nyaya epistemology, paramarsha
tuifils which of the following

pramanas ?

(A) Upamana
(B) Pratyaksha
(C} Anumana

(D) Shabda

Badhita as hetvabhasa represents a

case of

{A) Non-inferential condition
(B) Inferential condition
(C) Positive instantiation

(D) Vyapti instantiated by negative

conditions

As a realistic school of philosophy,
the Vaisheshika upholds

(A} The knower alone exists

(B) Knowledge is different from the
object known

(C) The object of knowledge alone is
real

(D) No relation exists between the

knowledge and its object

10.

11.

12.

o[ 9l oll stlotglBUofUIR

YA A et [@Aulld yaal well
Bloll yl 52 B ?

(A) GuHlet
{(B) ycua
(C) VlefHiol

(D) o€
oltlld decuoud yuedld 52 8

(A) (At Wl RAA
(B) vlojMlotell RAA
(C) &5lAHS GELERQL

(D) et BHL oASL1RAHS
wcrRUA awifds

As s 220t Sleuell, AAELs 9
Hal B

(A) MM glicllo] URAL &
(B) sitet A sl Azt ot oflot B

(C) M (A d¥do] URAC B

(D) stiot wA (AnL a2 516 Aolu o1l




13. For the Sankhya, everything cannot

be produced out of everything,
because

(A) The effect does not pre-exist in
its material cause

(B) Everything exists explicitly in
Prakriti

(C} The effect is implicitly present
in its material cause

(D) The effect is not identical with
its material cause

14. Which of the following is not a
Chittavritti ?

{A) Viparyaya (false cognition)
(B) Vikalpa (verbal cognition}
(C) Nidra (Sleep)

(D) Kshipta (restless)

15. Which of the following is not true
about the yoga concept of God ?

(A) God has nothing to do with
the bondage and liberation of
Purushas

{B) God is not the creator, preserver
and destroyer of the world

{C) God is not the moral governor of
the universe

(D) God is not limited by anything

13. vl Yool ot — Wil — oy Glot
e 25q o2l streld

(A) uReux elllds sl wlkdamlst
&l stell

(B) usldui oy 2uxe 3ld e 8

(C) st A ol elllds srQi 2¥¢
e 8

(D) st A elllds s 0 As U a2t

14. (ot @M Higll 58 “Alet gld « otall

(A) fauufy (b1El auesulsd)

(B) [Ascu (2u(ces uHesalsd)
(©) [si¢t
(D) &llrd

15. [liot (AR uill2Dotedotoll SHR ot
A ol 53 clltitet w1y ol

(A) ua yzu oll Ysell B olottuot of]
8185 Aalt tal otell

(B) €42 W wdld ol olldcll, wets 5

UolslRs otell
(C) S W wdldell allds dads «tell

(D) R W suel Ad ol «ell



16. The view, that any knowledge carries

with it an assurance about its own
truth is

(A) Svatah pramanyavada
(B) Syadvada
(C) Paratah pramanyavada
(D} Nayavada
17. According to the Mimamsa system,
the sole utility of the vedas, lies in

(A) Giving information about the
nature of the world

(B) Directing rituals
(C) Showing the path of liberation

(D) Establishing the existence of
God

18. Neti-netiis
{A) A negation of this world

(B) A negation of the reality of
Brahman

(C) A negation of all attributes of
Brahman

(D) A negation of the unity of God and
Brahman
19. Maya as sadasadanirvachaniya
means, that
{A) Maya is real and indescribable

(B) Maya is knowable and
nameable

(C) Maya is neither real nor unreal

(D) Maya is absolutely unreal

16. stotell ALscllell Yredl stiat
Hio 8l 8, A Helel g sdau

(A) WAE WHIYL wWE

{B) RUE diE

(C) URde Yyl A e
(D) ol <UE

17. i we2R A8l oft Guallolld 1A
dell
(A) 29ldett zuedl Hdldl utudl

B) wis QR AEact 52q

(C) ysell ol Hidl cetiad
(D) B4R of vt Wollds? B

18. “Ald -aAdl’ A
(A) %2lcoll oislR 52 O
(B) olsloll ildn Ul Al oisi2 53 ©

(C) doitll oltutes 9JQlloll ols1R B

(D) 842 ol Wl olt Ao oll ofl
SR

19. Hlal A “Yel Aelddyedldr & Aed

(A) MRl A B wal wadolla d

(B} Hlau A silel 2002 A LM
AR B

(C} Hlalt Ul otefl vl WAL
uel otell
(D) M AW Yol uil AU B




20. Which of the following is not 20. [QuatfAfMd Higll logerall 2R ol
accepted as a characteristic of God vRALEA ML Qj Aot ot2ll.

by Ramanuja ?

(A) God is the absolute A) Sy yel B

(B) God is nirguna (B) 8542 [ojat B
(C) God is antaryamin (C) 4R vld2ldl &
(D) God is transcendent (D) xR wroudl B

21. The Indian concept of purusharthas | 21. el Yl oll vl sl Mo Yot

) . o)
emphasizes the importance of UWHIUR R Y5 B

(A} Only spiritual values A) W weauedls yeal

(B) Only material values (B) izt ellldls yeell

{C) Non-moral values (C) ©lat-alfAs yedl

(D) Both material and spiritual (D) olllAs wal witauHls yel
values

22. Adrsta is the 22. ua 9 B

(A) Unseen store of accumulated (A} wagal @lSIR 916 FHL WU ol Yyl
merits and demerits ol AUA AR B

(B) Unseen power of God to create (B) vezul sufa afsa Bouell d
the world %3l of [Aulel 52 B

(C) Invisible presence of the effect (C) sRRIHL waea dla 2¥cll 513 <l
in its cause sl

(D) Mysterious power of evil (D) el lArwestdl 2l

LI




23. Which of the following is not

true about the Karmayoga of the
Bhagvad Gita ?

(A} The aim of the performance
of duties is for the welfare of
humanity

(B) Duties should be performed
for the achievernent of material
goods

(C) Karmayoga does not advocate
asceticism

(D) Karmayoga is religious and
spiritual in nature
24. The Buddhist cight fold path is a
middle path because

(A) It advocates renunciation

(B) It does not believe in
self-mortification

(C) It advocates the performance of

duty

(D) It is a golden mean between
pravritti, the path of indulgence
and nivritti, the path of
renunciation

25. What is the importance of the three

jewels (triratna) of Jainism ?

(A) They help in understanding the
nature of God

(B) They help in the acquisition of
worldly pleasures

{C) They are indispensable to the
bringing about of salvation

{D) They give knowledge about the
lives of the Jaina tirthankaras

23. [oliet (@AMt Hiell 53 clutst o0l o1
sil2llol W@ Wy ol ?

(A) sHl otl [Rdsdt wenal t2a
Hlelclelloll Gellol HI2 ol B

sl elllds yu yidl w2 s2ad
wld B

(B)

sHalol dureldl ofl Briad «1efl
5cll

(D) ctal@ls A sHlol A s ua
MHIRIER

(C)

24. ogoll 2ol Hol A Hea 1ot B

s20L5 ?

(A) Q cuotell Briad 53 B
(B) A al-Yeell BHiaict el 52l

(C) A sclcat Wetel scllof 58 &

(D) d uqld, elatfdeiyeadl 11 42
(g d, idlell Hiof dflyael
Aq 8

25. %ot £23Uol ol AReolloll Heecl 9 B

(A) A g2 ol cdawllsdl aHraHl
HEEIU B

(B) A ellds viele Yl saUHl
HEESU 8

(€©) A Yyl Anaal villae] 8

(D) & Fot {lelsA ot Weiot [RAclle] sliot
AU B




26. The Charvaka ethics of the

gratification of the senses as the
supreme end of life is

(A) Gross egoistic hedonism
(B) Altruism
(C) Eudaemonism

(D) Refined utilitarianism

27. Confirmation to a moral law makes

an action

(A) Ingenius
{B) Right

(C) Acceptable
(D) Desirable

28. The concept of the good in ethics is

related to
(A) Material goods only

(B) Social values
(C) Laws of nature

(D) Realization of the deeper self

29. Which of the following are known as

the cardinal virtues ?

{A) Prudence, justice, beauty,
kindness

(B) Kindness, goodness, service,
prudence

{C) Prudence, justice, fortitude,
temperance

(D) Justice, mercy, love, beauty

26.

27.

28.

29.

ldls Rdlausni slel ol Yua
clotoll GRUAH tA2 dglLeicl
WYY

(A) ASER Blod Yulalle

(B) uRlusleue

(C) uelesriale

(D) gt GuAalclale

® 5 allds yell WA undat
YRAA B, dal g sdaud

(A) ofaausl

(B) w3

(C) ¥dlsd

(D) Buve{l2L

oflcflanst Hi “R ol veua Aadl

U A SAA D,
(A) 5t elllds crgll W

(B) wHlBs yel
(€) secll [unl

(D) WUafeict
(laot (AR Higll 521 Yooy UEIRN & ?
(A) AHwEL U2 YERCL, el
(B) €2, utRie, Aa, AHwELdl

(C) "Hweld], uat, Suc, 8

(D) c_lal, el Y, YERcU

S
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30.

31.

32.

33.

In ethics, pleasure of the individual
as the moral standard is

(A) Altruism
(B) Egoism
(C) Intuitionism

(D) Perfectionism

Which of the following is not a
postulate of morality in the ethics
of Kant ?

(A) Reality of the external world

(B) Belief in the existence of God

(C) Belief in the freedom of the will

(D) Belief in the immortality of the
soul

A judgement of value is

(A) What is the case
(B) What ought to be

(C} What is wrong

(D} What is absolute

Which of the following is true about
the deterrent theory of punishment ?

(A) The aim of punishment is to
reform the criminal

(B} The aim of punishment is to
ignore the criminal

(C} The aim of punishment is to do
justice to the criminal

(D) The aim of punishment is to
prevent others from committing
similar offences

30.

31.

32.

33.

ofldl qut Wi culselotet Yul ol HIU-€S
SECRIE

(A) URAUSIR clE

(B) vieHal aue

(C) i sllotalle

(D) yelaweue

[t @A Higll 5y 52 olldlHal
ol ydrureu Hi et otell 2

(A) oligl %olctofl A5l
(B) el wac{leat Hi (Qaun

(C) calsal wliciatell Hicual
(D) Lol WHRee ofl HieLctl

yeauaell duetA? g aad?
(A} @ URRAA & a

(B} % &lq slga

(C) vig ® A

D) 8 4 8

[Rot @Mt Hiell ucll Qs Rsict
Yoo 9 WY sdell.
(A) €5 oll U2 W 2fadue Yruclel

gl 8
(B} £5 oll 22 AR

waielalel 8
(C) €5 oll vl W JfeldURA AR

wYclel B

(D) €S oll L2 Bl Bl sl
52cil Asclloll B
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34.

35.

36.

Swami Vivekananda’s idea of the
synthesis of all the ideals of all
religions is

{A) Practical Vedanta

(B) A fundamentalist approach

(C} Universal religion

(D) The establishment of a new
religion

According to Sri Aurobindo, the
attainment of spiritual freedom
{A) Leads to the ascent from mind

to super minds

(B) Leads to duality and
dichotomies

(C) Leads to enhanced interest in
social matters

(D} Leads to the achievement of
nothingness

Tagore’s concept of the religion of

man believes that

{A) True religion is expressed in
particular forms

(B) Religion cannot be confined to
any group, sect or tribe

(C) Religion must inspire
asceticism

(D) Religion is an escape from life

34.

35.

36.

el Hl (Qasielesll dHiH udl o1 vzl
ol YHal saledl [QuR g odl ?

(A} caasl? Aeid

(B} sgalé] uellotn

(C) d@s i

(D) ellett ud ol 2eusi

all wR(de Yoo vitaulls icdaial
it 52l Aed g ?
(A) Q Het &l wumet Yell

4 9y 8

B) A Buellcl wa gl dRs
q¢ 9y 8

(€) A WHYs Wiedl Hi 3l auk 8

(D) Yol Yllel 5L R
i 8

2to0R all apotcflar (el Rgic
g Hi B

Al Y A ALSU AW WL GAo1R
UL B

(A)

(B) ud & 518 e, Wwyela 3 ol

yull il asia 1l

ul doasl YR 52l
SN

wil A ard@saunisl
gecllofl eesuidl B

(C)

(D)
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37.

38.

39.

According to Igbal rejection of the

self is

(A) Consistent with the general
trend of Islamic thought

(B) Consistent with the Indian
traditional values

(C) Self-contradictory

(D) Obligatory

Ultimate reality is the end of the

process of realisation, is the view of

(A) K. C. Bhattacharya
(B} Charvakas

(C} Peter Singer

(D) Jyotiba Phule

Which of the following is not true,

according to Dr. Radhakrishnan’s

concept of religion ?

(A) Religion is an insight into
reality ?

(B) Religion enables the divine to
be manifested in the nature of
man

{C) Religion implies a faith in the
ultimacy of absolute spiritual
values

(D) Religion is a creed

37.

38.

39.

BEOUA H¥O eda otsLRd,
AzA 9

(A) BRAUHAl RAUUS VAA
WA Yold B

(B) @lRclell URIURLc
yell WA Ydld B

(C) t-[AQAeu B

(D) g2opAlcl B

URH el Bl VileHALBUSLR ol
uslaell yalsdld sa 8,

vl Hd 5Bl causc s 8.

(A) ¥, . et

(B) ULels

(€) l2: @oaR
(D) 2o g@

(st @Aullct Hiell S gAusWen wr ol
vl A 5 [Quiet YA2Ad o2l

(A) w Ul vl B

(B) ud caliml uc3sell
uaefcl 5AA &

() i AR AR Ucasdl yoara wi

vieau(Hs yelloll slgl gLl
AR 53 8

(D) wf Wy B
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40.

41.

42.

“Ahimsa and truth are so intertwined
that it is practically impossible to

separate them”, is the view of

(A) Jawaharlal Nehru
(B) Gandhi

(C) Sankhya

(D) Bradley

On the basis of Dr. Ambedkar’s views
of an ideal society, which of the
following does not hold true of the

caste system ?

{A) Caste system was considered
totally unscientific

{B) Caste system was a negative
thing
(C) Caste system is natural and

desirable

(D) Caste system is an unnatural
division of labour

‘Man is the creator of society, institutions
and politics’, is the view of

(A) M. N. Roy’s radical humanism

(B) Swami Vivekananda’s practical
vedanta

(C) Gandhi’s view of ahimsa

(D) Jaina concept of triratna

40.

41.

42.
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43. According to Swami Vivekananda’s

concept of religion and religious
experience

(A} Religion is meaningful because it
is ritualistic

(B) Religion acquires meaning from
being associated with creeds and
sects

(C) Religion is a growth from within

(D) Are redundant in modern times

44, Integral yoga incorporates which of
the following features

(A) It is an essential condition of
life

(B) It requires the performance of
rites and rituals

(C) Itis practicised through physical
exercises

(D) Itis an inner yoga, which requires
disciplines of purification and
spiritualization

45, As an idealist Radhakrishnan
believes, that

{A) Reality is one and concrete
(B) Reality is the object of intellectual
debate and analysis

(C} The universe is constantly and
persistently progressing towards
some higher end

(D) Reality is a conglomerate of
manifold ideas

43.

44,

45,
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46.

47.

48.

49,

Gandhi’s concept of Swaraj has
nationalist and individualist
implications, means

(A) Swaraj inspires nationalist ideals
in society

(B) For a nation Swaraj is freedom
from foreign rule and for an
individual it is freedom to choose
and to decide

(C) The government is superior to the
citizens

(D) Citizens should be strictly
governed by state laws

That which represents the basic
rights of citizens and cannot be
taken away by any law, are

{A) Fundamental rights
(B} Duties

(C) Directive principles of state
policy
(D) Political rights

Which of the following symbolizes the
concept of Swadeshi ?

{A) Lotus and charkha

(B) A farmer and a spinning wheel
(C) The Himalayas

{D) Khadi and charkha

Which of the following is not a
technique of satyagraha ?

(A) Prayer

(B) Fasting

(C) Manipulation

(D) Non-cooperation

46.

47.

48.

49,
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50.

51.

52.

53.

Which of the following is the first
institution in the history of man ?

(A} Tribes
(B} Family
(C} Religion

(D) Community

Which of the following is a negative
characteristic of religion ?

(A) Dogmatism
(B) Service
(C) Spread of education

(D) Non-violence

The aim of education in ancient India
was to create

(A} A productive career
{B) Self-knowledge
(C) Awareness of social customs

(D) A love of material goods

Plato’s theory of justice has been
elaborated in which of the following ?

(A) The Republic

(B) Sophist

(C) Language, Truth and Logic
(D} Ethics

50.

51.

52,

53.
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54.

55.

56.

57.

In the ideal state each citizen fulfils
the duties according to his status
and role’, is the view of

(A) Anaximander
{B) Berkeley

(€C) Buddhism
(D) Plato

The theory, that the state is based
on a contract between the ruler
and the ruled and among the ruled
themselves, is

(A) The organic theory

(B) The divine origin theory
(C) The social contract theory
(D} The evolutionary theory

Which of the following thinkers is not
associated with the social contract
theory ?

{A) Hobbes
(B) Russell
(C) Rousseau

(D) Locke

In Marxism, the view that history
is a process of conflict between
antagonistic forces and classes is
(A) Socialism

(B) Neo-marxism

(C) Dialectical materialism

(D) Pragmatism

54.

55.

56.

57.
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58.

59.

60.

61.

‘The history of all hitherto society is
the history of class struggles,’ is an
expression of

(A) Marxism
(B) Idealism
(C) Utilitarianism

(D) Democracy

refuted the doctrine of
innate ideas.
(A) Rene Descartes

(B) John Locke
(C) David Hume
(D) Plato

Which logic is suitable for scientific
investigation ?

(A) Deductive

(B) Inductive

(C) Fuzy

(D) Propositional

Cause and effect relation, according
to Locke is comprehended through
{A) Sensation

{B) Reflection

(C) Sensation and reflection

(D) Intuition

58. glaata 3 uc Yol ol dud ol
glAety 26 B, L Hcl oAl B ?

(A) wusd cue

(B) el ce
(C) GueloLct alg
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62.

63.

64.

65.

Extension, solidity and motion,
according to Berkeley are

(A) Primary qualities
(B) Secondary gualities

(C) Both primary and secondary
qualities

(B) Simple ideas
Who maintained that ideas are
copies of impressions and if there

is no impression then there is no
idea ?

(A) Rene Descartes
(B} John Locke
(C) David Hume

(D) George Berkeley

According to Leibnitz, Monads
as single metaphysical unit is
essentially defined as

(A} Unit of extension

(B} Unit of force

(C) Unit of primary quality
(D} Unit of spirit

Cogito means
(A) T exist
(B) I think
(C) I can exist

(D) 1 do not think

62.

63.

64.

65.
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66.

67.

68.

69.

is an innate idea,
according to Rene Descartes.

(A) God

(B) Colour
(C) World
(D) Sound

Spinoza defines the notion of
substance with reference to

(A) Primary qualities
(B) Modes and attributes
(C) Secondary qualities

(D) Abstract ideas

is the author of Critique
of Pure Reason.

(A) David Hume
{B) Francis Bacon
(C} Immanuel Kant

(D} Rene Descartes

How do we have knowledge of things-
in-themselves ?

{A) By perception
(B) By intellectual intuition
{C) By direct perception

(D) By inference

66.

67.

68.

69,
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70. According to Hegel, Nature is
{A) Reason and conceptual
(B} Passion and practical

(C) Reason and instrumental

(D) Passion and moral
71. Which one of the following statement
is true for Pythagoras ?

{A) Numbers are mere abstractions
and derived from the sensible
world

(B) Numbers are dependent on the

world of experience and can

explain facts of the world

(C) Numbers are not derived from

sensible world, but can explain

the sensible world

Numbers are part of the sensible

world

72. According to Thales, the ontology of

the reality is
(A) Fire

(B) Water
(C) Matter

(D} Air

70. 3 uofAR Ysld—>.
(A) olllgs wa AUsCLollcHs
B) cwlit UR =asllRs
(C) ctbllre ua Guselcel
D) cdlHa wua lds
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73.

74.

75.

76.

Socrates method of philosophical
inquiry was

(A) Critical

(B) Phenomenological
(C) Speculative

(D) Dialectical

The Ideas according to Plato are
(A) Things in the world

(B) Finite substances

(C) Universal and eternal

(D) Copies of things in the world

Aristotle’s motion of final cause
refers to

(A) End and purpose of things
(B) The form of the things

(C) The relationship between cause
and effect

(D) Material cause

St. Augustine maintains that evil is
necessary for

(A) The enchantment of the greater
good
(B) Strengthening the good will

(C) The existence of the positive
good
(D} The fall of man

73.

74.

75.

76.
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77.

78.

79‘

80.

According to St. Anselm, faith is an
integral part of

{A) Existence of man
(B) Understanding the God

(C) Believing in God, but not the
realization of God

(D) Existence of the world

According to Kant, space and time
are

{A) Subjective to experience

(B} Objective and form of
experience

(C) A-posteriori concepts

(D) Both a-priori and a-posteriori
concepts

Which of the following holds a contrary
relation with ‘A’ proposition ?

(A) Some s is not p

(B) Some sisp

(C) Allsisp

(D) Nosisp

In categorical syllogism ‘O’
proposition distributes

(A) Subject term

(B) Predicate term

{C) Both subject and predicate
term

(D) Subject and predicate terms are
not distributed

77.

78.

79.

80.
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81. Which of the following quantifications

holds true for the proposition : “All
flowers are beautiful”

(A) (x) (Fx > Bx)
(B) (%) (Fx oBx)
(C) (3x) (Fx & Bx)
(D) (%) (Fx & Bx]

82. Indicate which of the following is not
a Law of Thought ?

(A) Principle of verification
(B) Principle of identity
(C) Principle of contradiction

(D) Principle of excluded middle

83. In a syllogism, the middle term
appears

(A) Once
(B) Twice
(C) Thrice

(D) Four times

84. Mill’s method is used in
(A) Proving a deductive argument
(B) Categorical syllogism
(C) Inductive logic

(D) Quantification

81. ol Anio] 53 yuugllswl oll YA of
yldstcds 3uidRel d

(A) (3x) (Fx > Bx)
(B) (x) (Fx oBx)
(C) (@x) (Fx & Bx)
(D) () (Fx & Bx)
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85. The subject matter of phenomenology | 85. yldeux [Atuets (Quaicedg

18

(A) To study psychological ideas (A} HielRls [Qaell vieu™

(B) To study ideal meaning with (B) wtojelaett deelell 2uedl wdsll
reference to experience ALY

(C) A study of factual science (C) eflsaciell Qsusall uean

(D} A study of metaphysics (D) clectlcistiotoll weAUY

86. According to Moore, which among | 86. 4R ¥ul? ol Auie] 9 Bos

glges ;'glslgv;glti 193 not a characteristic [Quacird ool

(A) To be is to be perceived (A) “8ld WA yeslet &g

(B) Distinction between appearance (B) cllzclldsdl wual WHIRAL BLE
and reality

(C) Conceptually private (C) UsCUeALHS (5oL L

(D} Do not exist in public place (D) 933 28R Wheleel ot @f:i

87. The Central theme of Russell’s theory | 87. ¥csll cdlot Rgiclq Soacicll

of description deals with Quaucidg &

(A) The study of logical being (A) (85 Ul veA

(B) The study of unreal objects (B) wcliz(ds ueldall wea

(C) The study of propositions (C) [Qatsllell wealy

(D) The study of supernatural (D) wA-yBQs uetalall wead
objects

88. In early Wittgenstein, meaning is 88. Utllet [QedleuteteSoiui wel 9 2
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89.

90.

91.

92.

Who maintained the thesis of
elimination of metaphysics ?

(A) Early Wittgenstein
{B) Existentialists

(C) Logical positivists
(D} Idealists

The statement “Saturday is sleeping
furiously” is an example of

(A} Category — mistake
(B) Performative statement
(C) Unverifiable sentence

(D) Meaningful sentence

According to Kierkegaard,
subjectivity is
(A) Abstract concept of self

(B) About self-consciously existing
subject

{C}) Complex existence of
consciousness

{D) About the self and no self

Martin Heidegger’s concept of Being
can be defined as

(A) Self-revealing
(B) Non-existence

(C} Experience of ‘self’ and not the
experience of ‘other’

(D) Experience of the other only

89,

90.

91.
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93.

94.

95.

Richard Rorty’s critique of
representationalism shows his

enduring interest in
(A) Absolutism

(B) Existentialism
(C} Relativism

(D) Idealism

Who advocated that student must

9earn by doing’ ?
(A) Socrates

(B} Plato

(C) Dewey

(D) Pierce

Nietzsche maintained that human
behaviour can be reducible to a

single basic drive, that is
(A) Will to live
(B) Will to power

(C) Will to become superman

(D) Will to become good
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96. According to Levinas, ethics to

be regarded as first philosophy

because
(A) Ethics is a study of values
(B) Morality and life are one

(C) Of the spontaneous act of
responsibility

(D) Of the ontology of human

existence

97. The application of principles and
concepts from philosophy to a study

of our practical affairs is
(A) Applied philosophy
(B) Environmental ethics
(C) Medical ethics

(D} Moral philosophy

98. The question, ‘how should humans
best use and conserve the space
environment to secure and expand

life’, falls within the scope of
(A} Medical ethics
{B) Social and political philosophy

(C) Metaphysics

(D} Environmental ethics
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99,

100.

Peter Singer is of the opinion, that
causing injury to animals is morally
wrong because

(A) Animals are rational beings
(B) Animals are conscious
(C) Animals are not rational

(D) Animals do not speak

Which of the following is not a pillar
of medical ethics ?

(A) Autonomy-respect for the patient’s
right to self-determination

(B) To administer a line of treatment
even if the patient is unwilling

(C) Beneficence-the duty to do good

(D) Non-maleficence-the duty not to
do bad
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